107}

1072

107

107

1.4

om » o
A Ak e Ak e AR

Ratio

1

0.9

-4 -2 0

°85-8 -6

2 4 6 8 10

[ pull of @parameter |

107}

1072

[ pull of dxy parameter

107}

1072

10™
1.4

1.05

Ratio

-
..
..

=

0.95
0.9

=
o

[ pull of goverp parameter

1074

1072

107

107

[y
TTTT[TTTT[TILITIT

Ratio

0.9

2 0 2

°80-8 =6 -4

4 6 8 10

|nOIdF|Ie5125_v2_preI|mWPM_epoch4 |
dinOldFiles125 v2 prelimWPM epoch4
[ pull of B parameter

te oy 0.0:
T R R S LI .
i ey
10—25_ .........
10°°

Ratio

10 -8 -6

[ pull of dz parameter

107}

1072

0BG =6 =4 2 0 2 4 6 8 10




	Contents
	Page 1


